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£ What Happened to the Guy Who Lost His Left Side?

Solve each problem and find your solution below. Cross out the box containing that solution. When you finish,

The second of two numbers is 6 times the first. Their
sum is 7. Find the numbers.
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(2) The second of two numbers is 3 less than twice the
first. Their sum is 36. Find the numbers.

The sum of two numbers is 84. The first is 9 more
than 4 times the second. Find the first number.

The larger of two numbers is 1 less than 8 times the
smaller. Their sum is 179. Find the numbers.

An 84-meter length of cable is cut so that one piece
is 18 meters longer than the other. Find the length of
oach piece.

(8) Anbottie filed with water weighs 9.6 kilograms. If the
water by itself weighs 5 times as much as the bottle,
what is the weight of the bottle?

write the letters from the remaining boxes in the spaces at the bottom of the page.

Andy's weight is 5 kilograms less than twice his
brother's. Together they weigh 100 kilograms. What
are their weights?

The sum of three numbers is 61. The second number
is 5 times the first, while the third is 2 less than the.
first. Find the numbers.

The sum of three numbers is 84. The second number
is twice the first, and the third is 4 more than the
second. Find the numbers.

Together a chair, a table, and a lamp cost $562. The
chair costs 4 times as much as the lamp, and the
table costs $23 less than the chair. Find the cost of
the table.

() The sum of the angle measures of any triangle is
180°. Find the angle measures of a triangle if the
second angle measures 10° less than twice the first,
and the third angle measures 25° more than the
second.
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What's the Quickest Way for an Ant to Go
From the Ground to the Tree Trunk?

Saive each oroblem below. Find your soution i the answor column and noice the leter
ext 1o . Wrie s letter i @ach box hat containg the number of hat probiem.

(D) T tengih o a roctangl i 3 tmes th wh The sman
o 58 o o e e i
) am, 11m, 12m

(®) T engh of  rciange s 5m g han v ® ot
e s o
oo @ omsm

(@) The wa of a recang s 12 s o © 12om 38em
o To et & 158 o pewanana | (8) som 26m
e

U) 31cm, 43cm
@ T g o s octngnis 2 s an 70— | D
B e wiavard | @ 1#oem, om 5o

oo ® wmion
() e perimeter of a ange s 76 om. S a ol he
wange s wice a8 kong a8 8o, Scecs tom | (C) Sm2aem

longer than side a. Find the length o each sde. ® %0cm 15em, 51em

(8) e et e o a tang s 8 m sortrhn he 150m, 180m,270m
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each side.
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